
Addition de Cœurs Doux (J)
Quelle est la valeur de chaque cœur doux?

195 + a = 632 m + 275 = 489

337 + j = 1084 o + 354 = 1099

804 + c = 1582 r + 107 = 400

788 + d = 1676 s + 964 = 1833

116 + b = 777 q + 202 = 692

532 + h = 1259 n + 411 = 1314

195 + i = 658 k + 743 = 1394

636 + e = 1274 p + 343 = 525

101 + f = 211 l + 730 = 966

742 + g = 1178 t + 608 = 1012
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Addition de Cœurs Doux (J) Réponses
Quelle est la valeur de chaque cœur doux?

195 + 437 = 632 214 + 275 = 489

337 + 747 = 1084 745 + 354 = 1099

804 + 778 = 1582 293 + 107 = 400

788 + 888 = 1676 869 + 964 = 1833

116 + 661 = 777 490 + 202 = 692

532 + 727 = 1259 903 + 411 = 1314

195 + 463 = 658 651 + 743 = 1394

636 + 638 = 1274 182 + 343 = 525

101 + 110 = 211 236 + 730 = 966

742 + 436 = 1178 404 + 608 = 1012
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